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For indeed — 71772 BYa 7aup 1nab ua bapn an Pw
The father can receive a v for his minor daughter against her will

OVERVIEW

The x 3 explained that by 793P mm%w (which generally can take place only
7nyTn), there is a case of 792P% M%w which can be 5"va of the woman, where the
father of an 7P IWXR can be %2pn her 5"¥a vi. Our MO explains the meaning of
nn ya.

— (91 PYITPT 72 P92 NNATI INTD A 19 1MIYI NYUNNN “ax YW 1N H¥a 1959N)
And she is divorced even against the will of the father, when the husband gives

it to the father >'"'v2 as is evident in the second p=p of w7 noon -
— 773N 192 XN 12 NN HPAT PYIPA XN KDY NPIR NPT PUITH TINT

Where the Xn3 states, regarding accepting @17 for his 77v1 102, since it requires
consent, only her father can accept 7v17?, but not her; however regarding

Pw9va, which is 2"y either the 77V1 or her father can receive the va. This concludes
the citation from the X3, Continues Mo -
—2D902792 OV WD 191 171199 YaHY NYN NYI9Y NUANN AN Y INT H¥aT 1190 WIS

The explanation of the phrase 7°aX 1°2 X°7 12 2"¥27 7Y 1s, since she becomes
divorced >'"va of the father, therefore she too can receive the v just like the
father, and >'"'w there also explained it in this manner.

mooIN brings an additional proof that the w12 is 71 even 2& 5w 5"ya.
— nY¥a 1 NV YAPY NYYY YNV 19N DY) *ONN 1399N T

And furthermore X217 queried there can a ;77¥1 make a m°5w to receive her 3
from her husband. The sides of the query are, is the 771 (Who may accept the v3) -
— "N 1PAN 98N IN NIRRT AN 195

' Moo may be troubled if we were to assume that 3"¥2 here means merely 3"y of the daughter. For if this is
considered 3"v3, then there is 3"¥2 by 1"w17p as well, for also there the father can be w7pn his daughter 3"v2, yet we
do not consider 1"¥17p as being 2"v2 (since the father consents), so why should we consider it 2"y2 by 717,
% See *"wA there AR "7 who states: ¥ NI PR 9 93P 2D NPT WY ANT MR P KT P AN DY MWW PR YAR
X7 7072,
? 2,72 (on the very top).
* The 77v1 may herself accept the 3, because she is considered as her father’s hand, and therefore since she is like
her father’s hand she can also make a nm°2w, just like her father can make a m>w.
> If the reason the 7¥1 can accept the v3 is because she is considered as the %n of her father, then just as a %
cannot make a m°?w, similarly the 771 also cannot make a 5w,
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Similar to her father’s hand (and she can a make a 7°%®) or is she similar to her

father’s 2xn (and she cannot make a m°%v) -
— MY RYY NYHNN NYAN I8N 7 HYT ynvun

Indicating that if she is divorced through her husband placing the vX in her

father’s 2x2n it is a divorce even without his consent -
%N AN 98NS BN IO INYT RYY NYAPN NINY N5

Just as when she receives the v) without his consent even if she is considered
her husband’s axn.’

SUMMARY
The husband can divorce his wife who is a 7P or 771 by giving it forcibly to her
father against his will.

THINKING IT OVER

Moon assumes that the query of X237 is according to the 2’1317 of *"7 (who maintain
that both the 77w1 and her father can receive the uv3).® However, why is it not
possible to say that the query was also according to " in a case where the father
consented that she should receive the vx and the question is whether she can make
a mow or not?’

® There is a nPPnn in 2,3 PWITR who may receive the vx for a no7R»A 7Y, the 051 maintain both she and her
father can receive the 03, while 7717 "1 maintains only her father can receive the u3. We can establish that according
to the 2°non she can receive the v even without her father’s consent, for if the 2°»5n maintain that she can receive
the v only with her father’s consent, then why would "9 argue, for (since she is a 717v1) she is no different than any
mow that the father can make to receive the v3. Now X271 queries whether this right of the 77W1 to receive the 3
(according to the oom [see ‘Thinking it over’]) is it because she is the 7° of the father or the 7xr of the father. We
must therefore conclude that if the v3 is placed in the hand or the 7% of the father she is divorced even against her
father’s will, for if we maintain that the father must consent, then we have an inherent contradiction; on one hand the
77v1 (who is either 77> or 77¥n of the father) can receive the divorce without his consent (see previously) and on the
other hand the father’s 7> or 711 (to which the 771 is compared) can only receive the v3 with his consent! Therefore
we must conclude that even if the father receives the v3 without his consent, his daughter is divorced. (X"win [see
also 7"™w 2" ,>"wamn and ax1 "))
" Even if we say the 7¥1 can receive the 03 because she is (merely) considered her father’s 7xr (and not his 7°),
nevertheless she can accept it a8 5w 3"v3, therefore she will also be divorced if it is placed in her father’s 2¥m or 7
even IR Hw O"ya.
8 See footnote # 6 [in the brackets].
? See 1 MR "7 TR R"WAN.
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